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1A% (8 UEFREH (B
A | wex | REFR nvg | wmes | RES
CNGV - CHGVH - CHGTHZS 38 F LASt DR &
500L3k %5
LPG 714,073 1,522 1,018 032 12,707
PG 64,475 20 623, 668 15 587
LG 24 582 0 347, 664 264
AG 1 0 19, 650 2,200
LT 1,010 740 19,743 1,761
LNGV 0 0 0 0
tnL 0 0
(LDH 0 0
| Z D1t 14 0 321 98
fERESSE 1 804,155 228244 f 8,029,084 8.617f
HErERALL (h) 88.5 128.0
B o U R 806,437 _ ______________}\ _______________80C13700_ _______________
HEERALE (h) 88.7
500L A £ 1000Lk
LPG 0 0 0 3
PG 256 0 4135 0
LG 127 276 5 647 3 677
LT 0 0 0 0
DL 0 0
LDH 0 0
| Z it 0 0 40 20
EaEgSEs W\ __ L] R 9.822 3, 700f ]
HEERAL (%) 88.2 114.1
tMﬁ&ﬁE ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 69 ) W52
XETERALE (h) 94.0
1000LLLE
LPG 844 134 21 12,987 5, 246 A1
PG 0 0 0 0 0 0
LG 193 92 8 1,480 1,737 29
LT 52 11 3 680 117 94
nL 0 0
(LDH 0 0
0 0 0 0 102 46 0
EnEgsst 0t 1089 _________ 837y 2 15,2490 1146 534]
WEERAL (h) 118.6 94.3 104.7
\E%sst . . 198 29 ______
XAIERAL %) 109.5
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oNovERAER | B | rom
WEIEREA L (h) 110.8

CHGVHE SR F DR &
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HEEREALE (h) 97.3 25.7 0.0
CHovREmART — X e - S
HAEFERAL &) 83.7
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AEERAL %) 0.0 304.8 600. 0
chetThHE@E®&Sst | S N | 2
AEERAL %) 472.7
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